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3,564 MHOKHMO
6 mMBOMNTEdD
b i o
21,384 mapeaenic
AyMaMBbl 4> 6=—24, nnmensd 4 noad CTOANA Ha eANHHIY
16, a 2-15 Aecernii AbpKUND 32 Ad TH cnbeund  CBH
AeceTniunTh, B AyMaMbl, 6><6=36 42 —38, nuoieM
8-1bx5, a 3-1h AbPIRUND 56 = 30+ 3 = 33, nuuen
3-15, a ApyruTh 3 AbpKRANT. Ix6 =18+4-3= 21, nu
mens 1-10 moas cToana Ha xpaaanth, w 2-1h Ba whe
1070 HA A€CeroXmiaAnTh, 3amoTo pbma Apyrs nHpepH
Taka u
563,824 X 5= 2,819,120
37,964 X 7= 265,748
5,935,037 X6 = 35,610,222
W ApYrbl TaKbBa.

A ako u apbrb umcaa C& MHOTOILD®pEHNEl TOT#3
nuuend MHOKATEdA noAb MHOKHMOTO, H Kato 3axpa
Jeyh TNakb OTH  AECHO, yNHOKABAME KAKTO M npban
CHUKKTH 1uepH HA WHOKHMOTO, nLpBo Ch eAnnuaTh, 10=
cab cb aecernnard, ¢b cToTunnTh M Mpu. B TypAuhl ch
KO OTH Thid IlaBeABHiﬂ eAnud ygHb HA 1580 OTH onesa
koeto ¢ npban mero; gocyb cpOMpamh ThiA vacrud n3Bes
Aedif m Hauppamsl riasHOTO.

Heka ysnomuMs 3,473 cp 253.
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